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QUESTION 1

What indicates an artifact instance in UML notation? (Choose two) 

A. memo box 

B. keyword 

C. syntactically well-formed file name 

D. single sheet icon with a folded-over corner 

E. class box with two smaller rectangles on its left side 

Correct Answer: BD 

 

QUESTION 2

Which must be true in order to use a delegation connector to connect two components? 

A. The components must have complex ports. 

B. One component must be a subtype of the other. 

C. The components must be related to each other via a dependency. 

D. One component must be part of the internal realization of the other component. 

Correct Answer: D 

 

QUESTION 3

Assume component A provides an interface P and requires an interface R. In order for a component B to be substituted
for component A, what must be true? 

A. Components must be related to each other via a dependency. 

B. The interface that A requires must be type conformant with respect to the interface that B provides. 

C. The interface that B requires must be type conformant with respect to the interface that A provides. 

D. The interface that B requires must be type conformant with respect to the interface that A requires, and the interface
that B provides must be type conformant with respect to the interface that A provides. 

Correct Answer: D 

 

QUESTION 4

Refer to the exhibit. 
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What is the significance of the fact that the Administration interface symbol extends downward rather than 

leftward? 

A. There is no significance. 

B. The interface cannot be provided via a port. 

C. The interface does not require a delegation connector. 

D. The interface is not publicly visible on the component. 

E. The interface is the primary interface for the component. 

F. The interface is the primary provided interface for the component. 

Correct Answer: A 

 

QUESTION 5

What is true about a pseudostate? 

A. not a state but a vertex 

B. a state entry or exit point 

C. a specification of a potential state 

D. a state that can be specialized for different purposes 

Correct Answer: A 
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